



Compare each pair of expressions.

Write the correct comparison symbol ($>$, $<$ or $=$) in each circle.

$$(6 + 2) \bigcirc (1 + 7)$$

$$(9 + 5) \bigcirc (6 + 6)$$

$$(2 + 3) \bigcirc (4 + 1)$$

$$(7 + 2) \bigcirc (4 + 5)$$

$$(5 + 8) \bigcirc (4 + 7)$$

$$(3 + 3) \bigcirc (1 + 5)$$

$$(6 + 6) \bigcirc (3 + 8)$$

$$(1 + 9) \bigcirc (6 + 4)$$

$$(1 + 4) \bigcirc (3 + 3)$$

$$(2 + 6) \bigcirc (4 + 5)$$

$$(3 + 7) \bigcirc (4 + 5)$$

$$(5 + 7) \bigcirc (3 + 9)$$

$$(6 + 9) \bigcirc (8 + 8)$$

$$(4 + 7) \bigcirc (5 + 6)$$

$$(4 + 8) \bigcirc (5 + 5)$$

$$(3 + 8) \bigcirc (9 + 1)$$

$$(7 + 9) \bigcirc (6 + 8)$$

$$(3 + 4) \bigcirc (6 + 1)$$

$$(8 + 8) \bigcirc (9 + 7)$$

$$(3 + 6) \bigcirc (8 + 1)$$



Answer Key

Compare each pair of expressions.

Write the correct comparison symbol ($>$, $<$ or $=$) in each circle.

$$(6 + 2) \text{ (} = \text{)} (1 + 7)$$

$$(9 + 5) \text{ (} > \text{)} (6 + 6)$$

$$(2 + 3) \text{ (} = \text{)} (4 + 1)$$

$$(7 + 2) \text{ (} = \text{)} (4 + 5)$$

$$(5 + 8) \text{ (} > \text{)} (4 + 7)$$

$$(3 + 3) \text{ (} = \text{)} (1 + 5)$$

$$(6 + 6) \text{ (} > \text{)} (3 + 8)$$

$$(1 + 9) \text{ (} = \text{)} (6 + 4)$$

$$(1 + 4) \text{ (} < \text{)} (3 + 3)$$

$$(2 + 6) \text{ (} < \text{)} (4 + 5)$$

$$(3 + 7) \text{ (} > \text{)} (4 + 5)$$

$$(5 + 7) \text{ (} = \text{)} (3 + 9)$$

$$(6 + 9) \text{ (} < \text{)} (8 + 8)$$

$$(4 + 7) \text{ (} = \text{)} (5 + 6)$$

$$(4 + 8) \text{ (} > \text{)} (5 + 5)$$

$$(3 + 8) \text{ (} > \text{)} (9 + 1)$$

$$(7 + 9) \text{ (} > \text{)} (6 + 8)$$

$$(3 + 4) \text{ (} = \text{)} (6 + 1)$$

$$(8 + 8) \text{ (} = \text{)} (9 + 7)$$

$$(3 + 6) \text{ (} = \text{)} (8 + 1)$$



Maths = standardised Children = **unique**

**Personalised online maths tutoring that goes
beyond practice and builds your child's
confidence at school**

Enrol today



Let's solve this 